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B.A./B.Sc. (Part-II) (Private)
Term End Examination, 2019-20

MATHEMATICS
Paper-1

Time : Three Hours] [Maximum Marks : 50
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Answer all questions. All questions carry equal marks.
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Test for convergence of the following series.
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Test for convergence of the following series.
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Prove that every absolutely convergent series is convergent but not conversely.
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Test the following function for continuity of the orign:
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0 of x=0.
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State and prove borel’s theorem.
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If a function is deferentiable at a point then prove that it is continuous at that point but converse is
not true.
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State and prove darbouxi’s inter mediate value theorem for derivatives.

§@18—3 / Unit-1II1
ﬁ?aaﬁﬁrmm?ahwaﬁmmaﬁiﬂmﬁfﬁwzﬁaﬁmmél
Prove that the limit of sum of functions is equal to the sum of their limit.
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If, u=e™ then show that

= (14 3xyz + x?y?z?%)e*V?
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I u = cos™! == x+y aﬁﬁﬁ’;aﬁﬁt‘x—+ya =——cotu

Ty ou 9
= cos~! x+3’ Ly __1
If u=cos T then prove that x Pl Yo =73 - cot u.
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find the envelop of the family of straight line y = mx + am?

find the equation of the evaluate of the parabola y°= 4ax.
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Find a point within a triangle such that the sum of the squars of its distance from the three vertices is

a minimum.

Bold x’+)+2° F1 FUs AF S SR, SEfh ax+by+ez = PR

Find the minimum value of x’+)?+z° having given are ax+by+cz = P
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Evaluate [ff, x*dxdydz where R is a cube bounded by the plans z=
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Change the order of integration in the following integral.
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y=0, y=a, x=0, x=a ¥ uRug

0,z=a, y=0, y=a, x=0, x=a.




